# Complex Fibonacci $p$-Numbers 

Dursun Tasci and Feyza Yalcin


#### Abstract

In the present paper, the complex Fibonacci $p$-numbers are defined by two-dimensional recurrence relation and some results are obtained.


## 1. Introduction

The complex Fibonacci numbers are considered by many authors. Harman [1] introduced complex Fibonacci numbers at Gaussian integers by two dimensional recurrence relation. In [1], for $n, m \in \mathbb{Z}$ and $(n, m)=n+i m, G(n, m)$ numbers satisfy the following recurrence relations

$$
\begin{aligned}
& G(n+2, m)=G(n+1, m)+G(n, m), \\
& G(n, m+2)=G(n, m+1)+G(n, m),
\end{aligned}
$$

with initial conditions

$$
G(0,0)=0, \quad G(1,0)=1, \quad G(0,1)=i, \quad G(1,1)=1+i .
$$

In [1], Harman defined the complex Fibonacci numbers as

$$
G(n, m)=F_{m+1} F_{n}+i F_{n+1} F_{m} .
$$

Taking $m=1, G(n, m)$ is the $n$th particular complex Fibonacci number

$$
F_{n}^{*}=F_{n}+i F_{n+1}
$$

given by Horadam [2].
In [3], Pethe defined the generalized Gaussian Fibonacci numbers. On the other hand, Berzsenyi [4] gave a different method by defining Gaussian Fibonacci

[^0]numbers. Berzsenyi defined the Gaussian Fibonacci numbers $F_{n+m i}$, for $n$ an integer and $m$ a nonnegative integer by
\[

$$
\begin{equation*}
F_{n+m i}=\sum_{k=0}^{m}\binom{m}{k} i^{k} F_{n-k} \tag{1.1}
\end{equation*}
$$

\]

From (1.1), $F_{n+m i}$ also satisfy

$$
F_{n+m i}=F_{(n-1)+m i}+F_{(n-2)+m i} .
$$

For a fixed $m$ (or similarly a fixed $n$ ), in Harman's generalization [1], a second order recurrence relation is considered. In this paper for $p \geq 1$ and $n, m$ be nonnegative integers, Harman's recurrence relation is generalized to a particular $p$ th order recurrence relation, i.e.,

$$
\begin{array}{ll}
G_{p}(n+1, m)=G_{p}(n, m)+G_{p}(n-p, m), & n>p, \\
G_{p}(n, m+1)=G_{p}(n, m)+G_{p}(n, m-p), & m>p, \tag{1.3}
\end{array}
$$

with initial conditions for all $r, s \in\{0,1,2, \ldots, p\}$

$$
\begin{equation*}
G_{p}(r, s)=F_{p, r}+i F_{p, s}, \tag{1.4}
\end{equation*}
$$

where $F_{p, n}$ is the $n$th Fibonacci $p$-number.
Many authors deal with Fibonacci $p$-numbers and their applications ([5],[6],[7]). In [5], for any integer $p \geq 0, n \in \mathbb{Z}$ and $n>p$, the $n$th Fibonacci $p$-number is given by the recurrence relation

$$
\begin{equation*}
F_{p}(n)=F_{p}(n-1)+F_{p}(n-p-1) \tag{1.5}
\end{equation*}
$$

with the initial conditions

$$
F_{p}(0)=0, F_{p}(1)=F_{p}(2)=\cdots=F_{p}(p)=1 .
$$

The Lucas $p$-numbers hold the same recurrence relation with the initial conditions

$$
L_{p}(0)=p+1, L_{p}(1)=\cdots=L_{p}(p)=1
$$

In the case $p=1$ the classical Fibonacci numbers are obtained.
The well known relationship between $F_{p}(n)$ and $L_{p}(n)$ is given by

$$
\begin{equation*}
L_{p}(n)=F_{p}(n+1)+p F_{p}(n-p) . \tag{1.6}
\end{equation*}
$$

Throughout this paper the $n$th Fibonacci $p$-number and Lucas $p$-number will be denoted by $F_{p, n}$ and $L_{p, n}$, respectively.

## 2. Main Results

In this section some properties related to the recurrence relations in (1.2) and (1.3) are presented. It is obvious that

$$
G_{p}(n, m)= \begin{cases}F_{p, n}, & m=0  \tag{2.1}\\ i F_{p, m}, & n=0 .\end{cases}
$$

## Proposition 1.

$$
\begin{equation*}
G_{p}(n, 1)=F_{p, n-p} G_{p}(0,1)+F_{p, n} G_{p}(1,1) . \tag{2.2}
\end{equation*}
$$

Proof. Use induction on $n$. Since $F_{p,-p}=1, F_{p, 0}=0$ and from the initial conditions in (1.4), for $n=0$ (2.2) is true. Suppose that (2.2) is true for $n-1$. From (1.2),

$$
G_{p}(n, 1)=G_{p}(n-1,1)+G_{p}(n-p-1,1) .
$$

By induction hypothesis,

$$
\begin{aligned}
G_{p}(n, 1)= & F_{p, n-p-1} G_{p}(0,1)+F_{p, n-1} G_{p}(1,1) \\
& +F_{p, n-2 p-1} G_{p}(0,1)+F_{p, n-p-1} G_{p}(1,1) .
\end{aligned}
$$

Rearranging the RHS use of (1.5) shows that (2.2) is true for $n$. So, for all nonnegative integers (2.2) is true.

In (2.2) by replacing the initial values in (1.4)

$$
\begin{equation*}
G_{p}(n, 1)=F_{p, n}+i F_{p, n+1} \tag{2.3}
\end{equation*}
$$

is obtained. By using (2.1), (2.3) can be written as

$$
G_{p}(n, 1)=G_{p}(n, 0)+G_{p}(0, n+1) .
$$

## Proposition 2.

$$
\begin{equation*}
G_{p}(n, m)=F_{p, m-p} G_{p}(n, 0)+F_{p, m} G_{p}(n, 1) \tag{2.4}
\end{equation*}
$$

Proof. The proof is similar to Proposition 1.

## Proposition 3.

$$
\begin{equation*}
G_{p}(n, m)=F_{p, m+1} F_{p, n}+i F_{p, n+1} F_{p, m} . \tag{2.5}
\end{equation*}
$$

Proof. Consider (2.4) with (2.1) and (2.3) gives

$$
G_{p}(n, m)=F_{p, m-p} F_{p, n}+F_{p, m}\left(F_{p, n}+i F_{p, n+1}\right)
$$

From (1.5),

$$
G_{p}(n, m)=F_{p, m+1} F_{p, n}+i F_{p, n+1} F_{p, m} .
$$

This completes the proof.
Thus $G_{p}(n, m)$ can be written in terms of Fibonacci $p$-numbers. The complex Fibonacci $p$-numbers $G_{p}(n, m)$ can be defined by (2.5).

For $p=1$, (2.5) gives the Harman's definition in [1].
In [7], Tuglu et al. give the sum of bivariate Fibonacci p-polynomials. Taking $x=y=1$ in ([7], Prop. 6) gives the sum of Fibonacci $p$-numbers. So, from (2.1)
and (2.3) the following sums are obvious.

$$
\begin{aligned}
& \sum_{n=0}^{k} G_{p}(n, 0)=F_{p, k+p+1}-1 \\
& \sum_{n=0}^{k} G_{p}(n, 1)=\left(F_{p, k+p+1}-1\right)+i\left(F_{p, k+p+2}-1\right)
\end{aligned}
$$

Taking $m=n$, it is obvious that

$$
\begin{aligned}
\sum_{n=1}^{k} G_{p}(n, n) & =(1+i)\left(F_{p, 1} F_{p, 2}+F_{p, 2} F_{p, 3}+\cdots+F_{p, k} F_{p, k+1}\right) \\
& =(1+i) \sum_{n=1}^{k} F_{p, n} F_{p, n+1}
\end{aligned}
$$

The following proposition gives an analogy of (1.6).

## Proposition 4.

$$
G_{p}(n+1, m)+p G_{p}(n-p, m)=G_{p}(m+1,0) L_{p, n}+G_{p}(0, m) L_{p, n+1} .
$$

Proof. From (2.5) and (1.6),

$$
\begin{aligned}
& G_{p}(n+1, m)+p G_{p}(n-p, m) \\
& \quad=F_{p, m+1} F_{p, n+1}+i F_{p, m} F_{p, n+2}+p\left(F_{p, m+1} F_{p, n-p}+i F_{p, m} F_{p, n-p+1}\right) \\
& \quad=\left(F_{p, n+1}+p F_{p, n-p}\right) F_{p, m+1}+i\left(F_{p, n+2}+p F_{p, n-p+1}\right) F_{p, m} \\
& \quad=L_{p, n} F_{p, m+1}+i L_{p, n+1} F_{p, m} .
\end{aligned}
$$

Use of (2.1) ends the proof.
Thinking (1.2) and (1.3) jointly,

$$
\begin{aligned}
G_{p}(n+2, m+2)= & G_{p}(n+1, m+1)+G_{p}(n+1, m-p+1) \\
& +G_{p}(n-p+1, m+1)+G_{p}(n-p+1, m-p+1)
\end{aligned}
$$

is obvious. This new recurrence relation denotes that each complex Fibonacci $p$ number $G_{p}(n, m)$ is sum of the four previous numbers at the vertices of a square on Gaussian lattice.

For $n=5, m=4$, it is clear that

$$
\begin{aligned}
G_{3}(7,6) & =16+15 i \\
& =G_{3}(6,5)+G_{3}(6,2)+G_{3}(3,5)+G_{3}(3,2) .
\end{aligned}
$$

By choosing the initial conditions pursuant to Lucas $p$-sequence, consider the recurrence relations in (1.2) and (1.3) with initial conditions for all $r, s \in$ $\{0,1,2, \ldots, p\}$

$$
\begin{equation*}
G_{p}(r, s)=L_{p, r}+i F_{p, s}, \tag{2.6}
\end{equation*}
$$

where $F_{p, n}$ and $L_{p, n}$ is the $n$th Fibonacci and Lucas $p$-number, respectively.


Figure 1. The first $G_{p}(n, m)$ numbers for $p=3$.

By applying the same procedure, the propositions below can be given.

## Proposition 5.

$$
\begin{equation*}
G_{p}(n, 0)=L_{p, n} \tag{2.7}
\end{equation*}
$$

Proof. The proof is obvious.

## Proposition 6.

$$
\begin{equation*}
G_{p}(n, 1)=F_{p, n-p} G_{p}(0,1)+F_{p, n} G_{p}(1,1) \tag{2.8}
\end{equation*}
$$

Proof. The proof can be seen by induction on $n$.

## Proposition 7.

$$
G_{p}(n, 1)=L_{p, n}+i F_{p, n+1} .
$$

Proof. From (2.8) and (2.6),

$$
\begin{aligned}
G_{p}(n, 1) & =F_{p, n-p}\left(L_{p, 0}+i F_{p, 1}\right)+F_{p, n}\left(L_{p, 1}+i F_{p, 1}\right) \\
& =F_{p, n-p}(p+1+i)+F_{p, n}(1+i) \\
& =F_{p, n+1}+p F_{p, n-p}+i F_{p, n+1} \\
& =L_{p, n}+i F_{p, n+1} .
\end{aligned}
$$

## Proposition 8.

$$
\begin{equation*}
G_{p}(n, m)=F_{p, m-p} G_{p}(n, 0)+F_{p, m} G_{p}(n, 1) . \tag{2.9}
\end{equation*}
$$

Proof. The proof is obvious from induction on $m$.
Replacing the values in (2.7) and (2.8) to (2.9), it is concluded that

$$
G_{p}(n, m)=F_{p, m+1} L_{p, n}+i F_{p, n+1} F_{p, m} .
$$

This paper outlines the concept of complex Fibonacci p-numbers and their applications and illustrates that this kind of generalization is possible for sequences in similar feature.

## Acknowledgement

The authors thank the referees for their valuable suggestions, which improved the quality of the paper.

## References

[1] C.J. Harman, Complex Fibonacci numbers, The Fibonacci Quarterly 19 (1981), 82-86.
[2] A.F. Horadam, Complex Fibonacci numbers and Fibonacci quaternions, Amer. Math. Monthly 70 (1963), 289-291.
[3] S. Pethe and A.F Horadam, Generalized Gaussian Fibonacci numbers, Bull. Austral. Math. Soc. 33 (1986), 37-48.
[4] G. Berzsenyi, Gaussian Fibonacci numbers, The Fibonacci Quarterly 15 (1977), 233236.
[5] A. Stakhov and B. Rozin, Theory of Binet formulas for Fibonacci and Lucas p-numbers, Chaos Solitons and Fractals 27 (2006), 1162-1177.
[6] D. Tasci and M.C. Firengiz, Incomplete Fibonacci and Lucas p-numbers, Mathematical and Computer Modelling 52 (2010), 1763-1770.
[7] N. Tuglu, G. Kocer and A. Stakhov, Bivariate Fibonacci like p-polynomials, Applied Mathematics and Computation 217 (2011), 10239-10246.

Dursun Tasci, Department of Mathematics, Gazi University, Teknikokullar, Ankara, 06500, Turkey.
E-mail: dtasci@gazi.edu.tr
Feyza Yalcin, Department of Mathematics, Gazi University, Teknikokullar, Ankara, 06500, Turkey.
E-mail: fyalcin@gazi.edu.tr

Received November 14, 2013
Accepted December 31, 2013


[^0]:    2000 Mathematics Subject Classification.11B39.
    Key words and phrases.Complex Fibonacci p-numbers; Complex Fibonacci numbers; Fibonacci p-numbers.

    Copyright © 2013 Feyza Yalcin et al. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

